

THE BOARD OF DIRECTORS

PATRICIA ADAMS
Chair and President
ANN CAVOUKIAN
Executive Director, PBDI, Ryerson University
ANDREW COYNE
Columnist, National Post
IAN GRAY
President, St. Lawrence Starch Co. Ltd.
BRUCE PARDY
Professor of Law, Queen's University
ANDREW ROMAN

MAX ALLEN
Producer, CBC Radio
DAVID CAYLEY
Writer and Broadcaster
GLENN FOX
Economist, University of Guelph
CLIFFORD ORWIN
Professor of Political Science, University of Toronto
GAIL REGAN
President, Cara Holdings Ltd
GEORGE TOMKO
Expert-in-Residence in IPSI, University of Toronto

December 7, 2018

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street Toronto, ON M4P 1E4

Dear Ms. Walli,

RE: EB-2018-0105 Application by Union Gas for 2017 ESM and DA/VA clearing Cost Claim of Energy Probe

Attached is the cost claim of Energy Probe Research Foundation. Copies of the claim have been posted on RESS, sent in hard copy and by e-mail to the OEB, and by e-mail to the applicant.

If you require any additional information regarding this claim, do not hesitate to contact me.

Respectfully submitted on behalf of Energy Probe.

Tom Ladanyi

Consultant to Energy Probe

416 423-3685

tom.ladanyi@rogers.com



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

			Instruction	S	
- All claims m - A separate Disbursement However, on - The cost cla - A CV for each	Tust be in Canadia "Detail of Fees an ots Being Claimed' one "Summary one "Summary one the support of consultant/ana	n dollars. If applicable, d Disbursements Being (') is required for each law of Fees and Disburseme orted by a completed Aff llyst must be attached u	state exchange rat Rate: Claimed" (comprisin wyer, analyst/consunts" covering the will fidavit signed by a ranless provided to the	embedded in the form to assist e and country of initial currence Country: ag a "Statement of Fees Being Coultant and articling student/par whole of the party's cost claim sepresentative of the party. The Board as prescribed on the Country of the Cost Awards, itemized receipt	y. Claimed" and a "Statement of ralegal. hould be provided. Cost Award Tariff.
File # EB-	EB-2018-0105		Process:	Union Gas 2017 ESM and I	DA/VA
Party:	Energy Probe F	Research Foundation	Aff	iant's Name: Elizabeth Brub	oaker
HST Numbe	er: 10730 51	46 RT0001		HST Rate Ontario:	6.50%
		Unregistered		Qualifying Non-Profit Tax Exempt	
			Affidavit		
I,	Eliz	abeth Brubaker	, of the C	ty/Town of	Toronto
in the Prov	ince/State of	<u>Ontari</u>	0	, swear or aff	firm that:
2. I have exar Being Claime 3. The attach Disbursemen Ontario Ener 4. This cost c	mined all of the dod", "Statement(s) ed "Summary of I ets Being Claimed" gy Board process laim does not incl	ocumentation in suppor of Fees Being Claimed" Fees and Disbursements ' include only costs incur referred to above.	t of this cost claim, and "Statement(s) o Being Claimed", "So rred and time spent done, or time spent	h have knowledge of the matter including the attached "Summ of Disbursements Being Claime tatement(s) of Fees Being Clain directly for the purposes of the pur	ary of Fees and Disbursements d". ned" and "Statement(s) of e Party's participation in the
/	·	17 1			
Signature	of Affiant		· · · · · · · · · · · · · · · · · · ·	•	
Sworn or a	affirmed before	e me at the City/Tov	vn of	Toronto	
in the Prov	vince/State of	Onta	rio	, on October 1	



Affidavit and Summary of Fees and Disbursements

Commissioner for taking Affidavits

File # EB-	EB-2018-0105		Process:	Union Gas 2017 ESM and DA/VA
Party:	Energy Probe Research Fou	ndation		
	Summa	ry of Fee	es and Disburse	ments Being Claimed
Legal/con	sultant/other fees	\$	13,045.00	
Disbursen	nents	\$	-	
HST		\$	847.93	
Total Cos	t Claim	\$	13,892.93	
			Payment Inforn	nation
	Make cheque payable to:	Energ	y Probe Rese	arch Foundation
Send payment to this address: 225 Bruns			runswick Aver	nue
		Toron	ito, Ontario	
		M5S 2	2M6	
		Attent	tion: Frank Cia	nflone



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2018-0105		Process: Union Gas 2017 ESM and DA/VA						
Party:	Energy Probe Research Foundation	on	Service Provider Name:	Tom Ladanyi					
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Years Pracof Relevant Exp	o,				
	Legal Counsel			44					
	Articling Student/Paralegal		<u> </u>						
	Consultant Analyst			Hourly Rate:	\$330				
	For Consultant/Analyst:		ched HST Rate Cl	harged (enter %):	6.5%				
		CV prov	ided within previous 24 months						

St	atement o	f Fe	es Being	Clai	med					
	Hours	Но	urly Rate	Subtotal HST			HST	Total		
Pre-hearing Conference										
Preparation		\$	330.00	\$	_	\$	_	\$		
Attendance		\$	330.00	\$	_	\$	-	\$	_	
Technical Conference									***	
Preparation		\$	330.00	\$	-	\$	-	\$		
Attendance		\$	330.00	\$	-	\$	-	\$	<u>-</u>	
Interrogatories										
Preparation		\$	330.00	\$	-	\$	-	\$	-	
Responses		\$	330.00	\$	_	\$	-	\$	-	
Issues Conference										
Preparation		\$	330.00	\$	-	\$	-	\$	-	
Attendance		\$	330.00	\$	-	\$	-	\$	-	
ADR - Settlement Conference			·							
Preparation	3.00	\$	330.00	\$	990.00	\$	64.35	\$	1,054.35	
Attendance	14.00	\$	330.00	\$	4,620.00	\$	300.30	\$	4,920.30	
Proposal Preparation	1.50	\$	330.00	\$	495.00	\$	32.18	\$	527.18	
Argument										
Preparation		\$	330.00	\$	-	\$		\$	<u>-</u>	
Oral Hearing							<u> </u>			
Preparation		\$	330.00	\$	-	\$	-	\$	-	
Attendance		\$	330.00	\$		\$	-	\$		
Other Conferences										
Preparation		\$	330.00	\$	-	\$	-	\$	_	
Attendance		\$	330.00	\$	-	\$	-	\$	<u>.</u>	
Case Management	2.00	\$	170.00	\$	340.00	\$	22.10	\$	362.10	
TOTAL SERVICE PROVIDER FEES				\$	6,445.00	\$	418.93	\$	6,863.93	



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2018-0105	Process:	Union Gas 2017 ESM and DA/VA	

Party: Energy Probe Research Foundati Service Provider Name: Tom Ladanyi

	Net Cost	HST	1	Total
Scanning/Photocopy		\$ -	\$	-
Printing		\$ -	\$	-
Courier		\$ -	\$	_
Telephone/Fax		\$ -	\$	_
Transcripts		\$ -	\$	
Travel: Air		\$ -	\$	-
Travel: Car		\$ -	\$	
Travel: Rail		\$ -	\$	
Travel (Other):		\$ -	\$	_
Parking		\$ -	\$	_
Тахі		\$ -	\$	
Accommodation		\$ -	\$	
Meals		\$ -	\$	
Other:		\$ -	\$	
Other:		\$ -	\$	-
Other:		\$ -	\$	_
TOTAL DISBURSEMENTS:	\$	- \$ -	\$	-



Detail of Fees and Disbursements Being Claimed

File # EB-	EB-2018-0105		Process: Union Gas 2017 ESM and DA/VA						
Party:	Energy Probe Research Foundation	n	Service Pro						
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Years of Relevant	-				
	Legal Counsel			30)				
	Articling Student/Paralegal			<u> </u>					
	Consultant	/		Hourly Rate:	\$330				
	Analyst			_					
	For Consultant/Analyst:	CV attac	hed	HST Rate Charged (enter %):	6.5%				
	[2	CV prov	ided within previous	24 months					

Statement of Fees Being Claimed									
	Hours	Но	Hourly Rate Subtotal				HST	Total	
Pre-hearing Conference									
Preparation		\$	330.00	\$	-	\$	_	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Technical Conference									
Preparation		\$	330.00	\$	-	\$	+	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Interrogatories									
Preparation	11.00	\$	330.00	\$	3,630.00	\$	235.95	\$	3,865.95
Responses		\$	330.00	\$	-	\$	-	\$	-
Issues Conference								,	
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
ADR - Settlement Conference	•								
Preparation	4.00	\$	330.00	\$	1,320.00	\$	85.80	\$	1,405.80
Attendance		\$	330.00	\$	-	\$	-	\$	-
Proposal Preparation	1.00	\$	330.00	\$	330.00	\$	21.45	\$	351.45
Argument									
Preparation	4.00	\$	330.00	\$	1,320.00	\$	85.80	\$	1,405.80
Oral Hearing			•						
Preparation		\$	330.00	\$	-	\$	_	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Other Conferences									
Preparation		\$	330.00	\$	_	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Case Management				\$		\$	-	\$	_
TOTAL SERVICE PROVIDER FEES				\$	6,600.00	\$	429.00	\$	7,029.00



Detail of Fees and Disbursements Being Claimed

File# EB-	EB-2018-0105	Process:	Union Gas 2017 ESM and DA/VA

Party: Energy Probe Research Foundati Service Provider Name: Roger Higgin

Stater	ment of Disbursements Being Clair	med	
	Net Cost	HST	Total
Scanning/Photocopy		\$ -	\$ -
Printing		\$ -	\$ -
Courier		\$ -	\$ -
Telephone/Fax		\$ -	\$ -
Transcripts		\$ -	\$ -
Travel: Air		\$ -	\$ -
Travel: Car		\$ -	\$ -
Travel: Rail		\$ -	\$ -
Travel (Other):		\$ -	\$ -
Parking		\$ -	\$ -
Taxi		\$ -	\$ -
Accommodation		\$ -	\$ -
Meals		\$ -	\$ -
Other:		\$ -	\$ -
Other:		\$ -	\$ -
Other:		\$ -	\$ -
TOTAL DISBURSEMENTS:	\$	- \$ -	\$ -

TL Energy Regulatory Consultants Inc.

Date: 14 October 2018 Invoice No: EPRF 2018-004

To: Frank Cianflone Energy Probe Research Foundation 225 Brunswick Ave. Toronto, ON M5S 2M6 From:
Tom Ladanyi
TL Energy Regulatory Consultants Inc.
41 Divadale Drive
Toronto, ON
M4G 2N7

Phone: 416-423-3685

E-Mail: tom.ladanyi@rogers.com

OEB Docket: EB-2018-0105 Union Gas 2017 ESM and DA/VA application

Date	Description of Work	Hours	Rate	Amount
03-Sep-18	ADR Preparation	3	\$ 330.00	\$ 990.00
04-Sep-18	Settlement Conference attendance	7	\$ 330.00	\$ 2,310.00
05-Sep-18	Settlement Conference attendance	7	\$ 330.00	\$ 2,310.00
04-Oct-18	Submission Review	1.5	\$ 330.00	\$ 495.00
14-Oct-18	Case Management	2	\$ 170.00	\$ 340.00
			Subtotal:	\$ 6,445.00
	GST/HST No: 77848 0921 RT0001		HST 13%:	\$ 837.85
Make cheque pa	yable to:		Total	\$ 7,282.85

TL Energy Regulatory Consultants Inc.



INVOICE:

Cu	stor	ner
----	------	-----

Name Energy Probe Research Foundation
Address 225 Brunswick Avenue
City Toronto Province Ont P.C. M5S 2M6

 Date
 2018-10-12

 Project No
 Union Gas

 Title
 2017 DA&ESM

 EB-2017-0105

Attn	Frank Cianflone		<i>/</i> \		EB-2017-0105
Hours	·	Description Of Services		Unit Price	TOTAL
5	DATE			****	* * * * * * * * * *
6.00	Jul 30 2018	Review Prefiled evidence		\$330.00	\$1,980.00
4.00	Aug 6 2018	Prepare IRs send to client		\$330.00	\$1,320.00
1.00	Aug 8 2018	File IRs		\$330.00	\$330.00
4.00	Aug 30 2018	Review IR Responses Notes for ADR		\$330.00	\$1,320.00
1.00	Aug 31 2018	Review Settlement		\$330.00	\$330.00
4.00	Sept 3 2018	Prepare Argument on Unsettled issues		\$330.00	\$1,320.00
20.0	Total			SubTotal	\$6,600.00 \$6,600.00
P	ayment Details				\$0.00
0	Cash		Taxes	HST	\$858.00
•	Cheque			PST	
0	Other			TOTAL	\$7,458.00
Name	e CHEQUES PAY	ABLE TO SPA			
Date					